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Attempt ......... questions

' Which one is the nonpolar molecule among these?

a. HC1 b. HNO,
c.H, d. H,0
2 Ice Floats on water because:
a. Ice 1s denser than water
b. Ice is crystalline in nature
c. Water is denser than Ice.
d. Water molecules move randomly.
3 Atoms react with each other because:
a. They attract each other.
b. They are short of electrons.
c. They want to attain stability.
d. They want to disperse.

4 The electron deficient molecule is:
a. NH, b. BF,
c. N, d. O,

> The chemical bond formed between two similar

atoms is:
a. Polar bond
c. Metallic bond

6 In Triple covalent bond, each béndedatom

contributes electrons:
a.4 L2
c.3 d. 6
7 Noble gases are stable because:
a. Their valence shell is complete.
b. Their valence shell is half filled.

¢. There is no electrons in their valence shell.

b. Non polar bond
d. Dative covalent bond c. 4G~
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d. There are three electrons in their valance shell. d. _jfd_ s /,G ’tf L J’“ u’J’ Zy

8 The sodium atom after losing one electron attain

the electronic configuration that is:
a.1s2s2p"3s’ b.152s2p’
c. 1s2s2p’ d. 1s2s°2p'
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